

$$\begin{aligned}
No1 &= \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\sin(4 \theta) = 1) \end{bmatrix} \\
No2 &= \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix} \\
No3 &= \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\cos(3 \theta) = 0) & .4 = (\sin(3 \theta) = 1) \end{bmatrix} \\
No4 &= \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 + 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix} \\
No5 &= \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 3 = 0) \end{bmatrix}
\end{aligned}$$
$$\begin{aligned}
No1 &= \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(3 \theta) = 0) & .4 = (\cos(3 \theta) = 1) \end{bmatrix} \\
No2 &= \begin{bmatrix} .1 = (2 [\sin(\theta)]^2 - \sin(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{bmatrix} \\
No3 &= \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\sin(4 \theta) = 1) \end{bmatrix} \\
No4 &= \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix} \\
No5 &= \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{bmatrix}
\end{aligned}$$

$$\begin{aligned}
No1 &= \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\sin(4 \theta) = 1) \end{bmatrix} \\
No2 &= \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix} \\
No3 &= \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2 \theta) = 0) & .4 = (\sin(2 \theta) = 1) \end{bmatrix} \\
No4 &= \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{bmatrix} \\
No5 &= \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{bmatrix}
\end{aligned}$$
$$\begin{aligned}
No1 &= \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\cos(3 \theta) = 1) \end{bmatrix} \\
No2 &= \begin{bmatrix} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix} \\
No3 &= \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(4 \theta) = 0) & .4 = (\cos(4 \theta) = 1) \end{bmatrix} \\
No4 &= \begin{bmatrix} .1 = (2 [\sin(\theta)]^2 + \sin(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 - 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{bmatrix} \\
No5 &= \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .4 = ([\tan(\theta)]^2 - 3 = 0) \end{bmatrix}
\end{aligned}$$

[illegible]